qutqcar“ 8625

#PTO POS. M. D. Z.F 5.35 - 6.36

POSSIBLE SOLUTIONS

p 8625 XK|(| Y Iz

Outlet version

Available option

Control option

Model
PTO
15/02/2011
TEC. SPECIFICATIONS
Outlet 1
Torque (NM) 350 Replaces
Int. Ratio 1,80 Replaced by
Teeth number 12
CONTROL TYPE HYDROCAR
Electric Hydraulic Mechanic Fixed engagement k7 Pneumatic Vacuum system
CONTROL VERSIONS (XX)
Type 82z1 Description
#Cmd. M12x1.5 con raccordo
2 #Cmd. M12x1.5 senza racc.
AVAILABLE OPTIONS (Y)
82z1 Description Lubr. Kit Switch Kit Reinforced
0 #Non presente =
2 #Con Kit di Lubrificazione 195KL12P191 |
5 #Con kit interrut. Merit 194KSP26000 B
6 #Con kit interrut. T.D.S. 194KSP35000 B
7 #Con kit int. Merit+ KLB12 195KL12P191 194KSP26000 &1
OUTLET VERSIONS (22z2)
82z1 Description
294 4 HOLES PUMP SE/R REAR
740 FL DINOO REAR SIDE
741 FL SPICER 1120 REAR SIDE
742 FL DIN10 REAR SIDE
743 FL SPICER 1300 REAR SIDE

SEDE LEGALE - REGISTERED OFFICE: INTERPUMP HYDRAULICS S.p.A. - Business Unit Hydrocar: via A. Mingozzi, 6 — 40012 Calderara di Reno (BO) ltaly — Tel. +39 051 6460511 - Fax +39 051 6460922/3
REGISTRO IMPRESE DI MODENA N. 00883010241 — COD. FISC. 00883010241 - PART. I.V.A. IT 02128140361 - R.E.A. MODENA N. 245506 — N. MECC. MO019644 — CAP. SOC. € 2.631.600 i.v

2306




@, Hydrocar

8625

#PTO POS. M. D. Z.F 5.35 - 6.36

Pneumatic/Mechanic
Mechanic/Pneumatic
Electric control

Conversion kit

UNI from DIN 5462 SE/R 606X03RZ000

Flange kit
82z1 Description
197KFL79000 DIN 00 SE/R
197KFL80000 DIN 10 SE/R
197KFL81000 SPICER 1120 SE/R
197KFL82000 SPICER 1300 SE/R

Lubrication kit

82z1 Description
195KL12F291 SPICER 1120 HV- HVR
195KL12F391 SPICER 1120 (2325)
195KL12F491 SPICER 1120 (2400)
195KL12F591 DIN 10 DOWEL 800 Nm
195KL12P191 DIN 00 SE/R
195KLB35000 #Serie 86 su IVECO

Switch kit
82z1 Description
194KSP26000 #Merit M16x1.5 N.C.
194KSP35000 #TDS M16x1.5 N.C.

SEDE LEGALE - REGISTERED OFFICE: INTERPUMP HYDRAULICS S.p.A. - Business Unit Hydrocar: via A. Mingozzi, 6 — 40012 Calderara di Reno (BO) ltaly — Tel. +39 051 6460511 - Fax +39 051 6460922/3
REGISTRO IMPRESE DI MODENA N. 00883010241 — COD. FISC. 00883010241 - PART. I.V.A. IT 02128140361 - R.E.A. MODENA N. 245506 — N. MECC. MO019644 — CAP. SOC. € 2.631.600 i.v

2307




@, Hydrocar

8625

#PTO POS. M. D. Z.F 5.35 - 6.36

MATCHINGS
Brand Range Model 1st Gear ratio Outlet Application
EATON-FULLER 4106 DT A 9,03 Rear EA
EATON-FULLER 4106 DT B 7,54 Rear EA
EATON-FULLER 4106 OD 6,08 Rear EA
EATON-FULLER 6109 DT A 8,98 Rear EB
EATON-FULLER 6109 OD A 6,73 Rear EB
EATON-FULLER FS 4106 A 9,03 Rear EA
EATON-FULLER FS 4106 B 7,54 Rear EA
EATON-FULLER FS 5206 A 9,03 Rear EA
EATON-FULLER FS 5206 B 7,54 Rear EA
EATON-FULLER FSO 10309 A 0,00 Rear EG
EATON-FULLER FSO 5206 B 6,08 Rear EA
EATON-FULLER FSO 6109 A 6,73 Rear EB
EATON-FULLER FSO 8209 A 6,73 Rear EB
EATON-FULLER S-SERIES RTS 12316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTS 12316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTS 14316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTS 14316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTS 15316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTS 15316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTS 17316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTS 17316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTSO 12308 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 12316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 12316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTSO 14308 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 14312 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 14312 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTSO 14316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 14316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTSO 15316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 15316 A +V 0,00 Rear ED
EATON-FULLER S-SERIES RTSO 17308 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 17316 A 0,00 Rear EC
EATON-FULLER S-SERIES RTSO 17316 A +V 0,00 Rear ED
IVECO 2895.9 (NEW) 13,56 Rear Il
IVECO DA 11/02/98 0,00 Rear I1
Z.F. 5-35 5,64 Rear Z4
Z.F. 5-35 6,45 Rear Z4
Z.F. 5-35 6,75 Rear Z4
Z.F. 5-35 6,79 Rear Z4
Z.F. 5-35 7,65 Rear Z4
Z.F. 5-35 8,02 Rear Z4
Z.F. 5-680 7,43 Rear Z4
Z.F. 6 AS 700 TO 6,02 Rear Z5

SEDE LEGALE - REGISTERED OFFICE: INTERPUMP HYDRAULICS S.p.A. - Business Unit Hydrocar: via A. Mingozzi, 6 — 40012 Calderara di Reno (BO) ltaly — Tel. +39 051 6460511 - Fax +39 051 6460922/3
REGISTRO IMPRESE DI MODENA N. 00883010241 — COD. FISC. 00883010241 - PART. I.V.A. IT 02128140361 - R.E.A. MODENA N. 245506 — N. MECC. MO019644 — CAP. SOC. € 2.631.600 i.v

2308




@, Hydrocar

8625

#PTO POS. M. D. Z.F 5.35 - 6.36

MATCHINGS
Brand Range Model 1st Gear ratio Outlet Application
Z.F. 6 S 850 DT 1.00 8,51 Rear ZQ
Z.F. 6 S 850 OD 0.79 6,72 Rear ZQ
Z.F. 6-36 6,06 Rear Z5
Z.F. 6-36 7,43 Rear Z5
Z.F. 6-36 8,97 Rear Z5
Z.F. 6-36 /0,80 6,93 Rear Z5
Z.F. 6-36+GV36/6.32 7,43 Rear Z5
Z.F. 6-36+GV36/7.43 8,97 Rear Z5
Z.F. ECOLITE 6 S 700 TO 6,02 Rear Z5

SEDE LEGALE - REGISTERED OFFICE: INTERPUMP HYDRAULICS S.p.A. - Business Unit Hydrocar: via A. Mingozzi, 6 — 40012 Calderara di Reno (BO) ltaly — Tel. +39 051 6460511 - Fax +39 051 6460922/3
REGISTRO IMPRESE DI MODENA N. 00883010241 — COD. FISC. 00883010241 - PART. I.V.A. IT 02128140361 - R.E.A. MODENA N. 245506 — N. MECC. MO019644 — CAP. SOC. € 2.631.600 i.v

2309




ko

qutqcar“ 8625

#PTO POS. M. D. Z.F 5.35 - 6.36

AIRINLET FOR @6x4 PIPE

5 106
¥ 123
g 67.5 - . -
h:
E
=
=
=
[w]
G
& I v
( ﬂ
= |
= b i
R

& =l
{: M|
v 7
£ =
=
g o |
b= ABx32x36 DIN 5462

=

=

106.5

111

SEDE LEGALE - REGISTERED OFFICE: INTERPUMP HYDRAULICS S.p.A. - Business Unit Hydrocar: via A. Mingozzi, 6 — 40012 Calderara di Reno (BO) ltaly — Tel. +39 051 6460511 - Fax +39 051 6460922/3
REGISTRO IMPRESE DI MODENA N. 00883010241 — COD. FISC. 00883010241 - PART. I.V.A. IT 02128140361 - R.E.A. MODENA N. 245506 — N. MECC. MO019644 — CAP. SOC. € 2.631.600 i.v

2310




